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Triangular numbers are numbers that when given that amount of dots (Ex. 2nd term=3=3dots) they can be arranged so that the dots are evenly spaced to be a filled triangle. (Example below) 
After looking at the sequence for a while, I noticed that triangular numbers are simply the sum of numbers from 1 to the term number, (Ex. Triangular number 2 is 3 and 1+2=3, Triangular number 3 is 6 and 1+2+3=6.)  and an equation for the sum of numbers from 1 to a number is
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So for example 5th triangular number
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This equation only adds from 1 to n but works for all real values of n.

Similar to triangular numbers, stellar numbers can take the shape of a star when they are evenly organized.
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The 1st term of 6 pointed stellar numbers has 1 dot, the 2nd term has 13 dots, the 3rd has 37, the 4th term has 73 dots, and you end up with the following sequence.

1, 13, 37, 73

After some thinking and trial and error I realized that each of those numbers could be rewritten as something else. (Shown below)

(1), (1+12), (1+12+24), (1+12+24+36)

Which I then rewrote again to

(1+0(12)), (1+1(12)), (1+3(12)), (1+6(12))
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When rewritten in this from I noticed that I could use the formula for triangular numbers to write an equation for 6-pointed stellar numbers. 

However, since the first term of the sequence is 1 but if 1 is plugged into this equation, the result is 13, the equation had to be slightly modified in order to have it start at the right place.
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This equation now works with the correct terms meaning if you input 7 for n you will get the 7th term which is 253.

So now that I have my equation I can now very simply set up a table to display the results

	S1
	S2
	S3
	S4
	S5
	S6
	S7

	1
	13
	37
	73
	121
	181
	253


So after hand drawing 5-stellar numbers I counted them and got the following sequence,

1, 11, 31, 61

